Lecture 5
Verbal Groups- 4:adl) cile gasal)
Verbal groups can be of five types:

¢l de gaa a1 25

_,&\yiow\&cwﬂ
Type 1
caiaelioda g dadll jaae+ Jase Jud e 0 5S0 J sV g sl
(Modal can-could , may-might, shall-should ,will-would, must-ought to) + (Infinitive_x=x)
Walk /go/ see/ read il ye (e J2dll sa Jaill jaan 5l aad) dedll #
could see, will come

Type 2 Have +Past Participle:
il & Jbadll (e 3l (Have + past participle= Jzall Cullll cay paill) (e o sS4 SN g g3l
Al bl (33 ( Had + past participle= Jaill Ul cay paill) (e o <SGl g i)
Have, had, or has

| have telephoned you
The class had begun

Type 3 BE +Present Participle: are coming, were waiting

Verb to be: (am, is, are, was, were)
s acld &l &}'A\

(Present Participle= ing & J=ill)+(is am are g Jbzaall \was were =ll)Verb be sacluall Jladl)
ING+ J=&ll s !1Present Participle 4 s L 13

English is Interesting language
The movie was boring

Type 4 BE +Past Participle: is grown, was broken
L A

(Present Participle J=ill ¥ < yaill)+(is am are g sl \was were =l)Verb besacluall Judy)

itis grown up .
The window was broken .

Type 5 DO +Infinitive: did not like, Did you know?
(do, does, did ) + Infinitive
Dot e d Gl e gl
Do=(do, does, did) + (infinitive verb= Sy (e & = jaadll Jadll)
U 1| JUR PR B S E
did not like, Did as 43 48lal 5] 050 Hamn ela Cany Jadll
Did you know? Did s 43¥ clilal § s jaas ela o ey Jaill




The first four types can be combined with one another to form more complex verbal
groups like:
o g4 ST Jea (oS adadl) e gaaall (e 4m Y ) 8 pes (S
et i L 06 ) s s aaadl Ay jla s 5 (S

(Be +d=ill ¥ <y ) +(Be + Ing+ J=dl) ) +( Have +d=3ll ¥ <y joa))+ Jasa e Jl
el ) g Callil) /A 5 SN/l 1 5 (G

Ua G0 5 GBSl JsY) a5 aal ) adis juaile #
Modal + (Have +Past Participle) +(Be +Present Participle) +(Be +Past Participle)

1- (Type 1 & 2) — (¥-)) o= sl e
(Modal +Infinitive= Jrwall) + (Have +Past Participle= Jaill ¥ iy yaill)
Ahmed will have finished that book by Friday

2- (Type 2 & 3)- (*-Y) o= sl e
He has been learning English for four years.
(Have +Past Participle= J=all ¥ <& »aill) + (BE +Present Participle= ing +Jadlf)

3- (Type 1,2 & 3)- (¥-¥-V) glsi¥) gaa

He will have been learning English for five years by next October.

(Modal +Infinitive= ,un=4dll) + (Have +Past Participle= J=ill ¥ i »a%)+ ( BE +Present Participle= ing +
Jaill)

4- (Types 1 & 4)- (£-Y) = 8 pan
The president could be seen by everyone.
(Modal +Infinitive= ,x<=x) + (Be +Past Participle= Jzill ¥ iy jaill)

5- (Type 3 & 4)- (£-¥) ¢ 53 paa
He is being called now.
(Be +Present Participle= ing+ J=&!)) + (Be +Past Participle= Jaill ¥ iy paill)

All such groups are formed in the order 1, 2, 3, 4, as follows:
1234

Al 4 o L LS €YY &\;xj\ (i s 4 e cilS agLull JISEY) e

Modal + (Have +Past Participle) +(Be +Present Participle) +(Be +Past Participle) ‘
(Be +J2ll ¥ oy ya3) +(Be + Ing+ J=&ll ) +( Have +d=&ll ¥ o pai)+ Jo e o5 J )

Note 1: The meaning of the verbal group is contained in the last word.

JUie | Lo o _pa ¥ AN (8 () o anladll Jaall (8 el

He has been learning English for four years.
b el W e ) AISY o e L st )Y QRO (g S 40l calaad) e Gildl JU) 8
LU G dalS LS 1)

He has been English for four years.
18 ol <l siun )Y CAlaiY) o 0S5 (16K 38 L il g )Y ALV (g g OIS Gl i paila | alaall ina A
) 83l (ALY (5 sm OIS (l nim g g aleall e U clas Gy Al Lidas Lal (Sl i )Y ()
oS s




Note 2: Only the first word of a verbal group is affected by person,

number and tense. The first word is what makes the group finite.
Sl JEdS V) ALK s | adil) gl aaelly il ) o ddadl) Jead) 8 dadé Y1 AIS))

He has been learning English for four years. =i he oY Has Liks ;
| have been learning English for four years. 2 Ll oo Have 3315 | oY have [SHZEN
They have been learning English for four years. == they ¥ have Libs

Verbal Group Types- Juadills &) oY) 7wl

Type 1:- ( Modal +Infinitive)

The main verb which follows a modal auxiliary will always be in the bare infinitive (without
“tO”),

e.g. can see, could see

TO Osv sdae O sS (g Qlla) s Lily O3S & 5l 138 (8 Ja gall azy Jadl)
Il G= S (1, you, they, she ,he,it) Jelall paty pas¥ e a2l 5 (el i L 5l gall #

Modals are not affected by person and number.
He must know how to speak English.
They must know how to speak English.
You should listen to your dad
I must pray on time
It could be cold outside
e J A caling 8 Jelall 5l ae catlial Lo alial) & 3l gall ol Jaadl | 2l gally Slagall 5 Jad 4iad Jeldll
o Aaald Al Ll saaae L) aale ) sty i La Ll ire 128
All verbal groups beginning with a modal are finite.
SAMMQSMM\juamgjtﬁu@\cm“mmdqyghﬁ%j\w\ Gle senall ran

Type 2:- ( Have +Past Participle)
This type is an expression of the perfect aspect. “Have” is used as a helping verb (auxiliary
verb). The helping verb “have” is finite and changes according to person, number and tense.
bl g el /AUl alel) a3l Al a3 (e s n oa g il 1
J=all ¥ oy paill +Have/ has + Jeld alasiul ga € LUl @ALJ\ / 8JL2;AS\ sale)
Jaill G Gy peaill + Had + Jel padin oaalall
(.. il Jems . Alen slas Luis
P SIS () oS ad Bl sy i g Badaa Jladl 8 5 3ac s JilSHave / has /had pasius
(I', you, we, they) delall (S 13l 5 & jladll (a3l xe= Have
(She, he, it) Jelall S 1Y) & slaaall (e 3l 2 = Has
(I, you, we, they she, he, it) Jeldl xues aa 5 ~alall (10 31 4 = had
s
He has read the book already. (present perfect tense= Ul ¢ jLadll (10 9)
We have read the book already. (present perfect tense= oLl & jlasll (1 )
The students had already gathered in class when the teacher entered. (past perfect tense= 5Ll alal)

Type 3:- ( BE +Present Participle )
This type is an expression of the progressive aspect. “Be” is used as a helping verb (auxiliary
verb). The helping verb “be” is finite and changes according to person, number and tense.




el salall /g aall e 1B paiall Gla V) (e s g8 g gl 12a
O ) g 2a—lle (ad ) jirt Cues iR g Baasg P9 pac b Jladls a5 Be(is, am, are)sas bul) Jlasy)
:JUa
He is coming. (present progressive= _saiue g jliac)
They are coming. (present progressive= iuws & jliaq)
He was waiting. (past progressive= aiuae ala)
They were waiting. (past progressive= _aiue ale)
Jelll yiy g Badsa LY deadl JS 8 cdlia) sac Ll Jlad1 () Jaadls

Type 4:- ( BE +Past Participle)
This type produces the passive voice
cJsenall el dapa Lidany (a3l 132
The verb is active in this example:
Ahmed broke the window. (active voice= a staall i) ;
aglod) dleall A Lie || 338U uS deal]
o slaall 4130 alaallé 131 the window 42 Js2ée broke =S Jzé Ahmed eal Jelé
The verb is passive in this example:
The window was broken. (passive voice= J sexell i) }
I Jsenall dpive dlaall 13 Jeld o 0¥ (SI| Jadd a4y Jgrda 5 J28 Lnie | aleadloda 8 83U &35S
WS e alad Y S0 & 838 ) A sha Litie s2U S (g alad Y LY
CJseaall Aie gf | Jeld Letla dlaall 1A

Type 5:- ( DO +Infinitive)
In this type, the helping verb “do” is called an operator. We call it an operator because it
helps in a number of operations performed on the verb phrase (VP).
Some of these operations are:
agladl) o jlaall Aaall & Cilileal) o anll & aclig a8l @l aw cJalaall cansy dO J2dll & 5 128 8
DO Jaleall g o sty Al Slilaall (ans 334
1- Operation 1: (Negative- &ill) g% dalanl)
To form the negative, we put “not” immediately after the operator.
He does not want it.
They did not come here.

DO Jalaall 2235 silaa NOE 0] 311 padins | & () oS3

2- Operation 2: Interrogative - (question- Jsd) aaliu) ¥ dalasl)
The interrogative is formed by placing the operator before the subject and leaving the rest of
the sentence unchanged.

b Jpasi sl (s Al 438 & 5555 They deldll U DO delaal) pai dpalgdin dapa ()5Sl
___They come here.
Do they come here ? (interrogative = J) s 4aua)

3- Operation 3: Tag question - S 53l Jl s Aalead)
Y sl axd oailal 585 ) sl o yes/ N0 Q o 4d ja aSiany N A g 2K il U s
He did his homework, didn’t he?
They don’t come here, do they?
Operators




In addition to “do, does and did”, operators also include:
1. The modal auxiliaries (can\ could ,may\ might, shall \should ,
will \would, must\ ought to)
- Ll ety Jeladl “do, does and did”, ddbayl
1. The modal auxiliaries- 234 (can\ could ,may\ might, shall \should ,
will \would, must\ ought to
Operation 1: He could not come.=
Operation 2: Could he come?= algdiul
Operation 3. He couldn’t come, could he?= S 5 J) s

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British
English).

(Onias ) die ddia JLadlS 2230505 Ulal ) 3acbie Jl=3S have”, “has”, “had”
The following are examples of “have” as a helping verb operator:

aelua JriSHave dabeall 4l Joall 4

Operation 1: They have not come yet. = &
Operation 2: Have they come already? = aleiv)
Operation 3: They haven’t come yet, have they? = S 55 J) 5

This is an example of “have” as a main verb operator in British English:
8 J=8S Have Jull JEa) &
Operation 2: Have you any money? (British English)
Compare:
Do you have any money? (American English)
Jadll 5 aal) i) Jiae Jang Jad (IS 13 i Jad GAlaadl 3 J)sad) G glas 09 508 || dgila jull 4y jaladl)
" WH Q f ae e Jais W) Alaal) T il 4S5y ja¥) 4 3alas¥) (uSay ac Lusal)

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs:
B_\Qm dm‘ P 4733'19; d\.xﬂls ccam” “iS”, ccareaa “WaS” “Were”

9 9 5

The following are examples of “is” as a main verb operator:

bl J=iS s Al By &

Operation 1:- He is not here.
Operation 2:- Is he here?
Operation 3:- He is here, isn’t he?
aaly s Jed g J8YI e (o gt a Y Aleall of L g HAT Jad) 438 Lo Alead) oY 4l Ga s o) W je ca
The following are examples of “is” as a helping verb operator: :
ebue J=6S [g AUl ABaY)

Operation 1:- He is not coming.
Operation 2:- Is he coming?
Operation 3:- He is not coming, is he?
coming i 5o AT Jad Led Alaall Y pulad 2 I U

aliled (pa U guaiiy
Suzy & Reemaso1d




